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Year 5  Answers and mark schemes: Spring test 1: Part A

Spring test 1: Part A – The Missing Boy

Part A: The Missing Boy Content 
domain Mark Extra information

1 Award 1 mark for: a bus/(on a poster) on the bus. 2b 1 Do not accept: a poster/on 
a poster.

2 The boy in the poster looks like her son.   2g 1

3 Award 1 mark for mentioning two of the following features being similar or the same:

•	 hair
•	 skin
•	 eyes
•	 sneakers

2b 1

4a

4b

Award 1 mark for: No or any answer implying it.

Award 1 mark for answers that refer to the following concept: 
•	 This is how the poet’s son describes himself./The poet is writing from her son’s 	 	

point of view.

2d

2g

1

1

5 True False

The poet’s son is a lot older than the missing boy. 
(given)

The poet’s son finds the poster upsetting. 

The poster has been on the bus for a long time. 

The poet’s son knows the missing boy. 

2d 2 Award 2 marks for all three 
ticks correctly placed. 

Award 1 mark for two ticks 
correctly placed. 

Award no marks for one 
tick correctly placed.

6 Award 1 mark for the following words underlined:
my son holds my hand tight
or
holds my hand tight

2g 1

7 the poet’s son   2c 1

8 realistic   2f 1




